



Tên: \_\_\_\_\_

Ngày tháng: \_\_\_\_\_ Điểm: \_\_\_\_\_

$$\left(\frac{1}{2}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{2}{5}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right) + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{3}{4}\right)^3 - \frac{2}{5} =$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{5}\right)^3 + \frac{3}{5} =$$

$$\left(-\frac{1}{6}\right)^0 + \frac{1}{3} =$$

$$\left(\frac{1}{4}\right) - \frac{1}{6} =$$

$$\left(-\frac{1}{4}\right)^0 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{2}{5}\right) + \frac{1}{4} =$$

$$\left(-\frac{2}{5}\right)^2 - \frac{3}{5} =$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{4} =$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{2}{5}\right) + \frac{3}{4} =$$

$$\left(-\frac{1}{6}\right) + \frac{1}{5} =$$

$$\left(\frac{1}{3}\right)^3 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{1}{5}\right) =$$



Tên: \_\_\_\_\_

Ngày tháng: \_\_\_\_\_ Điểm: \_\_\_\_\_

$$\left(\frac{1}{2}\right)^2 + \frac{1}{2} = \frac{3}{4}$$

$$\left(-\frac{2}{5}\right)^3 - \left(-\frac{1}{2}\right) = \frac{109}{250}$$

$$\left(\frac{3}{4}\right) + \left(-\frac{1}{6}\right) = \frac{7}{12}$$

$$\left(\frac{3}{4}\right)^3 - \frac{2}{5} = \frac{7}{320}$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{2}{5}\right) = \frac{49}{135}$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{1}{4}\right) = \frac{61}{100}$$

$$\left(\frac{1}{5}\right)^3 + \frac{3}{5} = \frac{76}{125}$$

$$\left(-\frac{1}{6}\right)^0 + \frac{1}{3} = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(\frac{1}{4}\right) - \frac{1}{6} = \frac{1}{12}$$

$$\left(-\frac{1}{4}\right)^0 + \left(-\frac{1}{5}\right) = \frac{4}{5}$$

$$\left(-\frac{2}{5}\right) + \frac{1}{4} = \left(-\frac{3}{20}\right)$$

$$\left(-\frac{2}{5}\right)^2 - \frac{3}{5} = \left(-\frac{11}{25}\right)$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{3}\right) = \frac{11}{48}$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{4} = \left(-\frac{3}{8}\right)$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{5}{64}\right)$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{101}{375}\right)$$

$$\left(\frac{2}{5}\right) + \frac{3}{4} = \frac{23}{20} = 1\frac{3}{20}$$

$$\left(-\frac{1}{6}\right) + \frac{1}{5} = \frac{1}{30}$$

$$\left(\frac{1}{3}\right)^3 - \left(-\frac{1}{3}\right) = \frac{10}{27}$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{1}{5}\right) = \left(-\frac{211}{1080}\right)$$